
 PUISSANCES DE 10 EXERCICE 6A 
 

EXERCICE 1 
 Calculer mentalement : 

10 5 = 100 000 10 2 = 

10 6 = 10 9 = 

10 4 = 10 3 = 

10 1 = 10 7 = 

10 8 = 10 0 = 

 
EXERCICE 2 
 Compléter les pointillés : 

10 2 = 100 10 .... = 100 000 

10 .... = 1 000 10 .... = 1 000 000 

10 .... = 10 10 .... = 10 000 000 

10 .... = 100 000 000 10 .... = 10 000 

10 .... = 1 10 .... = 1 000 000 000 

 
EXERCICE 3 
 Calculer mentalement : 

10 -3 = 0,001 10 -5 = 

10 -6 = 10 -4 = 

10 -9 = 10 -1 = 

10 -8 = 10 -2 = 

10 –7 = 10 -0 = 

 
EXERCICE 4 
 Compléter les pointillés : 

10 -4 = 0,000 1 10 .... = 0, 001 

10 .... = 0,000 01 10 .... = 0,000 000 001 

10 .... = 0,000 001 10 .... = 0,01 

10 .... = 0,000 000 01 10 .... = 0,1 

10 .... = 1 10 .... = 0,000 000 1 

 
EXERCICE 5 
 Calculer mentalement : 

10 5 = 100 000 10 -2 = 

10 -4 = 10 7 = 

10 1 = 10 -1 = 

10 -6 = 10 0 = 

10 9 = 10 -3 = 

 

EXERCICE 6 
 Compléter les pointillés : 

103   = 1 000 .....  = 0,000 01 

.....   = 0,01 .....  = 1 000 000 

.....   = 1 000 000 000 .....  = 0,1 

.....   = 10 .....  = 0, 001 

.....   = 0,000 000 01 .....  = 1 

 
EXERCICE 7 
 Écrire chaque résultat sous la forme « 10n » : 

5 2 5 2 710 10 10 10    103  102 = 

106  103 = 108  10-3 = 

10-2  105 = 10-2  10-7 = 

10-9  103 = 100  10-4 = 

 
EXERCICE 8 
 Écrire chaque résultat sous la forme « 10n » : 
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EXERCICE 9 
 Écrire chaque résultat sous la forme « 10n » : 
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EXERCICE 10 
 Écrire chaque résultat sous la forme « 10n » : 

10-2  10-9 = 104  10-5 = 
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